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111. Indian player P.V. Sindhu is associated with which sports?

—

QNS 6SIRIF TG A 69Q 66IF 9 §E6?

(A) Table Tennis

(B) Badminton

(C) Ball Badminton

(D) Tennis

Ans-B

(B) Badminton is the correct answer. P.V. Sindhu is a professional
badminton player from India. She is the first Indian woman to win an
Olympic silver medal in badminton. She has also won several other
international titles, including the World Championships and the BWF
World Tour Finals.

(A) Table Tennisis a sport in which two or four players hit a
lightweight ball, also known as the ping pong ball, back and forth
across a table using small solid rackets.

(C) Ball Badminton is a sport that is similar to badminton but is played
with a larger, heavier ball. It is popular in India and Southeast Asia.

(D) Tennis is a sport in which two or four players hit a ball, also known
as the tennis ball, back and forth across a net using rackets. It is a
popular sport worldwide.
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J9e @081 69 TF FIFNRIM I9° SRLQUIN T¢ g FIRAIR, A6CS
2694 ARSI SRR F1d RERT |

(S) 69'EM 6679 620R 19 697 699269 IR FIR Fél 6SIRIR 6816 6816
A0Q QAURY ULLIR KR IR 699M QU6 IRg IRG 6 989 I8 LRS!
Om ARG, KILIg TeP Aok ¢ QR ¢ QLI |

(9) e SUILTLR 98 6%R JIgl QUIGTLR Qf @8 IR 92, QIR an 6
6SRIAIN | 991 QUG B 9/ 99 Y26 6RIKTL. |

(%) 667Y62AR IR 6517 699262 9N SR R 6SIRIR 65T SR FITAIE,
QILIg 6609 O 1kl QRIAN, Q -6RY QUSLIR KA 679 6 ARG B ARG
Alg ARG | 9Ll §¢RUIY1 IR ERIKTL 65IF |

112. Which country has recently been inducted into North Atlantic
Treaty Organisation (NATO).

G669 6961 QAR AITAES TF ANFINCRD] (R1691)6Q
dIfm SQUAIRNE |

(A) Sweden
(B) Ukraine

(C) Norway

(D) Finland

Ans-D
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« (D) Finland has recently been inducted into North Atlantic Treaty
Organisation (NATO). Finland is a Nordic country located in Northern
Europe. It shares a long border with Russia. Finland applied for NATO
membership in May 2022, following the Russian invasion of Ukraine.

« (A) Sweden is a Nordic country located in Northern Europe. It shares a long
border with Norway and Finland. Sweden applied for NATO membership in
May 2022, following the Russian invasion of Ukraine.

. (B) Ukraine is a country located in Eastern Europe. It is bordered by
Russia to the east, Belarus to the north, Poland, Slovakia, and Hungary to
the west, Romania and Moldova to the southwest, and the Black Sea and
Sea of Azov to the south. Ukraine applied for NATO membership in 2008,
but its membership was blocked by Turkey due to a dispute over the status
of the Crimean Peninsula.

« (C) Norway is a Nordic country located in Northern Europe. It shares a long
border with Sweden and Finland. Norway is.a member of NATO.
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113. Who had occupied Odisha just before Britishers?

QA°CART YR 9 BF6ll @GR FRAMI?

(A) Mouryas

(B) Portugese

(C) Mongols

(D) Marhattas

Ans-D

(D) Marhattas had occupied ‘Odisha just before Britishers. The
Maratha Empire was an Indian empire that existed from the 17th to the
19th centuries. It was founded by Shivaji Maharaj in 1674. The
Maratha Empire reached its peak in the 18th century, when it
controlled much of the Indian subcontinent.

(A) Mouryas were an ancient Indian empire that existed from the 3rd
century BCE to the 1st century BCE. They were founded by
Chandragupta Maurya and reached their peak under Ashoka the
Great.

(B) Portugese were a European power that colonized parts of India in
the 16th and 17th centuries. They controlled the city of Goa in Odisha
for a period of time.

(C) Mongols were a Central Asian people who invaded India in the
13th century. They controlled parts-of Odisha for a short period of time.
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114. Which of the below-given countries is largest -
2969 SAIAINYSI 694 TR FUQ 69T §LAE -

(A) Peru

(B) Argentina

(C) Chile

(D) Brazil

Ans-D
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. (D) Brazil is the largest country in South America. It is the fifth largest
country in the world by land area. Brazil is located in the eastern part
of South America. It is bordered by the Atlantic Ocean to the east,
Uruguay and Argentina to the south, Bolivia and Peru to the west, and
Colombia and Venezuela to the north.

« (A) Peru is a country located in western South America. It is bordered
by Ecuador to the north, Colombia to the east, Brazil to the south, and
Chile to the southwest. Peru is a mountainous country with a long
coastline.

. (B) Argentina is a country located in southeastern South America. It
is bordered by Bolivia and Paraguay to the north, Brazil to the north
and east, Uruguay to the east, and Chile to the west. Argentina is a
mostly flat country with a long coastline.

« (C) Chile is a country located in western South America. It is bordered
by Peru to the north, Bolivia to the northeast, Argentina to the east,
and the Drake Passage to the south. Chile is a long and narrow
country with a long coastline.
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115. Ancient India's great man Chanakya was associated with
which Kingdom?

dIg1e Q&is ALIgQE Sl8aY SIFIeR 690 K 986 @68 dem?
(A) Chalukya
(B) Kushan
(C) Chola
(D) Mourya

Ans-D

(D) Maurya is the correct answer. Chanakya was a minister in the Maurya
Empire, which was one of the largest empires in ancient India. He is
considered one of the most important figures in Indian history and is
known for his political and economic reforms.

(A) Chalukya was a dynasty that ruled parts of India from the 6th to the
12th centuries CE. Chanakya was not associated with this dynasty.

(B) Kushan was a dynasty that ruled parts of India from the 1st to the 3rd
centuries CE. Chanakya was not associated with this dynasty.

(C) Chola was a dynasty that ruled parts of India from the 9th to the 13th
centuries CE. Chanakya was not associated with this dynasty.
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116. It Moy is celebrated in india as what day ?
It 66119 694169 69 TF QUTEN AIRT QALY ?
(A) Republic Day

(B) Martyr Day

(C) Laboure Day

(D) Utkal Dibas

Ans-C
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(C) Labour Day is celebrated in India on May 1st every year. It is a
national holiday in India. Labour Day is a day to celebrate the
achievements of workers and to raise awareness about labor rights.

(A) Republic Day is celebrated in India on January 26th every year. It is
a national holiday in India. Republic Day commemorates the adoption of
the Constitution of India in 1950.

(B) Martyr Day is celebrated in India on March 23rd every year. It is a
national holiday in India. Martyr Day commemorates the death of Bhagat
Singh, Sukhdev Thapar, and Rajguru, who were executed by the British
government in 1931 for their involvement in the Indian independence
movement.

(D) Utkal Dibas is celebrated inndia on April 1st every year. It is a state
holiday in Odisha. Utkal Dibas commemorates the formation of the state
of Odisha in 1936.
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Irag country is associated with which ancient human

civilization ?

QAU 694 68Q FISIF FAIFS ARG ATC GGE ?

(A) Greek

(B) Mesopotamia

(C) Egypt
(D) Rome

Ans-B

(B) Mesopotamia is the correct answer. Mesopotamia is the region
that is now known as Iraq. It was home to some of the earliest human
civilizations, including the Sumerians, Akkadians, Babylonians, and
Assyrians. These civilizations developed writing, agriculture, and
mathematics.

(A) Greek is a civilization that originated in Greece in the 8th century
BCE. It reached its peak in the 5th and 4th centuries BCE, during the
Classical period. Greek civilization is known for its contributions to
philosophy, art, and architecture.

(C) Egypt is a civilization that originated in the Nile River Valley in the
3rd millennium BCE. It reached its peak in the Old Kingdom (2686-
2181 BCE) and the Middle Kingdom (2040-1640 BCE). Egyptian
civilization is known for its pyramids, hieroglyphics, and mummies.

(D) Rome is a civilization that originated in the Italian Peninsula in the
8th century BCE. It reached its peak in the 1st century BCE, during the
Pax Romana. Roman civilization is known for its contributions to law,
government, and architecture.
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118. What is the 'Vande Bharat Express '?
‘6L LI 9g6dd’ @'61?

(A) A South India Film
(B) A North Indian Film
(C) A ship

(D) A Train

Ans-D
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. (D) A Trainis the correct answer. Vande Bharat Express is an
Indian high-speed train operated by the Indian Railways. It is the
fastest train in India, with a top speed of 160 km/h. The train was
inaugurated in 2018 and currently operates between New Delhi and
Varanasi.

. (d) 699 6208 0] QAR | 968 VNG IF6dd QUG 6ARIIR FIA
JAGIRG 99 LI9CIA LINYQ 687 | YLl QIQLR 968 687, JILIA 694
A€l dG €90 FERIATR | Y€ 697 90er6q RQAWGES 6[INYMI IS°
QRANE QAULR Q ARG FIER FRICH KR |

119. Which country borders the country Ukraine?
P65 696 1€l 6 699 6961 ARR?

(A) Russia

(B) Finland

(C) Germany

(D) England

Ans- A

« (A) Russia is the correct answer. Ukraine is bordered by Russia to
the east and north.

o (?) QY 6208 A0% 2R | YETFN IS YS° RRAN6R RE T2l el
QLS |

120. In which country, more than 10,000 people lost their lives in a
severe earthquake in February 20237

6EPQaIRT 2023 6Q IG QAT QAR 68Q 696169 10,000 Q 2@
emia diel ¥aUmem?

(A) China
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(B) Pakistan
(C) Iran

(D) Turkey
Ans-D

. (D) Turkey is the correct answer. A severe earthquake struck Turkey
in February 2023, killing more than 10,000 people. The earthquake
had a magnitude of 7.8 and was centered near the city of Elazig.

(@) g 6208 909 Q@9 | 909N EPRQIUNER FHER QAR

RARS 6LIRNAUMI, 6IRNIER 20,09 2D 6MIF IS TAURYEM | RARSIA
Q1961 9.1 Ml 99° 98| YRGS ILX FRTER 6RK1Q6 6LIRMI |

121. Which of the following Indian states is not a coastal state?
NG FUQ 69Q NUNGIA AURY I8 AUFRIEN QUGY §6L?

(A) West Bengal

(B) Telangana

(C) Goa

(D) Karnataka

Ans- B

Telangana is the correct answer. Telangana is not a coastal state. It is
located in the interior of India, south of the Deccan Plateau.

6C6REI LI 40R Qe 6C6REPIe e @9@99@1 AUy @6§ | %l
60RIA NP QVE6R AURACR ARSI AFRER ALLS |
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122. Name the revolution of 1942 for India‘s independence.
VWIACA lNa el di 1942 Q S99 e Q2g |

(A) Quit India

(B) Salt March

(C) Sepoy Mutiny

(D) Civil Disobedience

Ans- A

« (A) Quit India is the correct answer. The Quit India Movement was a
major political movement in India that took place in 1942. The
movement was launched by the Indian National Congress and called for
the British to quit India.and grant independence to the country.

The other options are:

. (B) Salt March was a major political protest in India that took place in
1930. The protest was led by Mahatma Gandhi and called for the Indian
people to boycott British salt.

« (C) Sepoy Mutiny was a major military uprising in'India that took place in
1857. The uprising was sparked by a number of factors, including British
rule and the use of Indian soldiers in the British army.

(D) Civil Disobedience was a major political movement in India that took
place in the 1930s. The movement was led by Mahatma Gandhi and
called for the Indian people to disobey British laws.
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(@) QUNS 8I¢ € 909 QA NG /G ELIRE NG I8 TGS
QURCTTR 26RIRT Ml AT eeyy ATLI6 6LRYR | WAL [
@°699 Iol 9F 26LIRT AR FAUARAR 99° R°6ARFNCE AAS |IT
62419 RIS JGI8 5QIg YR 69R6A |

AR SRF9YeR 6Leml:

(6l) MLEl AL edano FJRIER WAGER 6L IR IS AURCTGR
deQlQ aml | ARIFl JIRIS 6096 Y& F68IQ FAUNRIYM IQ° QUAG1L,
6RIRAIEE T REIG G KRG QYR 6TRYEM |

(9) DAIF1 F6QIT WURGER €89 F19QI6Q 6LIRRI I8 ¢ AR F69IL
Ml | G54 Gl 99° §5¢ 69R16Q VUAG1Y 6d0a@ QUSRIR 6516 26aa

QRIAEQ IR T6QIE 2R 6L |

(@) QIS 2AKEULFI NUAGER edeno YRR 62RYS 9GS
QURETGR 2A6RIRT AR | T 2A6LIREN 689E 68R6R LI FIFT 99°
RURG1L 6RINCIEE 554 2IRag 2RAIF 9991q 2IF)e 69R26M |

123. Which one of the following is not a sea port?
MGG FIQ 689G AFF TN §6L?

(A) Gopalpur

(B) Paradeep

(C) Dhamra

(D) Puri

Ans-D
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« (D) Puri is not a sea port. It is a coastal town in Odisha, India. It is famous
for the Jagannath Temple.

The other options are:

« (A) Gopalpur is a sea port in Odisha, India. It is located on the Bay of
Bengal.

. (B) Paradeep is a sea port in Odisha, India. It is located on the Bay of
Bengal.

. (C) Dhamrais a sea port in Odisha, India. It is located on the Bay of
Bengal.

(@) g1 99 99 9621 Y9I QUL BRLIQ I8 AUGRIEN 9L | gl
@RoIgIel F199 IR 94 |

AR YRFYeR 6Leml:
(?) 691IRYANRCR BGSIR IR DG LR | 9L S6EPIAATAER AVLS |
(6) IR QUALA BGHIR 97 LR LR | L] R6PIIANAECR ALLS |

. () UIFQ QAL BLHA G AFQ LA | L] Q6PIAFTAER ALLS |

124. Mankind had originated from which place?
AIRE RIG 699 dIFQ Vg 6LIN2mI?

(A) America

(B) Australia

(C) Africa

(D) Asia

Ans-C
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« (C) Africais the correct answer. The fossil record shows that the
earliest humans evolved in Africa. The oldest known fossils of the
genus Homo, which includes modern humans, were found in Ethiopia
and date back to about 2.8 million years ago.

The other options are:

« (A) America was populated by humans who migrated from Asia over the
Bering land bridge.

. (B) Australia was populated by humans who migrated from Southeast
Asia by boat.

. (D) Asia was populated by humans who migrated from Africa.

(9) AIPR 6228 908 RQA RIFY 6ARFQ FEIULR 60 YIS AgNY
PR FREe 6RINIYM | 2ARJER AQIUg 69 G108 6KI6Fl RIS
ASYAURE R6Igdl 1918 RRJBTER TRM 9e° digl 9.r age od ges
J2IQ Q9@ 621l |

AR YRFYLR 6Lml:

(@) 69QP ¢ NUIG @ QU6 IJAIQ 21K AESVCIER ACARNER DRI
aQRlem|

(¢) aR48-9S 92Iq o 62I6s TS FgEUCISE AWIR 26 29I
QAR |

. (d) AIFRQ AR FIGYUAIEE YRR DR FQRIEM |
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125. Odia Film 'DAMAN', released last year, narrates the story of
which district?

el RN SRS 352 SREE 'QA6R 699 AR FlLlN edal
FALINE?

(A) Malkangiri
(C) Koraput
(B) Kandhamal
(D) Raygada
Ans- A

(A) Malkangiri is the correct answer. The Odia film 'Daman’, released in
2022, narrates the story of the Malkangiri district in Odisha. The film is
about the Maoist insurgency in the district and the impact it has had on
the lives of the people.

The other options are:

(B) Kandhamal is a district in Odisha. It is known for the Kandhamal riots
of 2008.

(C) Koraput is a district in Odisha. It is known for the Koraput tribal
rebellion of 1967.

(D) Raygada is a district in Odisha. It is known for the Raygada Naxal
attack of 2010.
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(@) IFINRILTR 6208 909 QAAI 909962 FJINR ARSI LU FRGS

'QUF'6Q BGHIR FINFFTN GRIA FILIN QRINIRR | GRIER FIBRIQT FEGIE I_°
EAIRE G190 QU6 YILIR JAIS § 60R & PR G6l8 UARE |

QY GRF9Ee 6eR:
() SLEIR BFHIN 9K FRI | 921 900 A FRFIF SHI AR KEIGE |

(9)) 6LIQUYS BTN 98 AR | €99 ATLIQ 6RIAUYS 2T F6gIE AR L]
Q&G4 |

(&) QUAGIGI BTN 99 GRI | 921 9000 Q ABTIE! FFM 2GS AR RS |

126. Which one of the following is a classical dance of North India?
FINSIC FRIQ 6908 AN QNG S §SY 266'?

(A) Kathak

(B) Bharatnatyam

(C) Kuchipudi

(D) Kathakali

Ans- A
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(A) Kathak is the correct answer. Kathak is a classical dance of North
India. It is known for its intricate footwork and graceful movements.

The other options are:

(B) Bharatnatyam is a classical dance of South India. It is known for its
elaborate costumes and facial expressions.

(C) Kuchipudi is a classical dance of Andhra Pradesh. It is known for its
intricate hand gestures and facial expressions.

(D) Kathakali is a classical dance of Kerala. It is known for its elaborate
costumes and facial expressions.

(@) AR 6228 A0 QA | KT AR LYUACR I A QoY | I
92I9 R5R AIQRIE 99° IR GG IR K&IF4 |

(6) QB RIFUE] GRS LIRS IR I QeY | 9LI LR 96 69IFIR Ie°
6962919 TSRS AR @dliglall |

(9) 269% AT N7 €Il @B | 9Ll ¥LIQ KON QIC RGPS Ie°
66629UR LSS I AEIGEN |

(@) UM 699N Iq dIge. geY | 99l 9Lla Y6 ANl 9Q°
6962 TIRS AN wéligéll |

127. Which continent had been least affected by first and second
world wars?

galfl @ §019 TEYS TIQl 68Q AILIERS IF0IQ K¢l IRUTE 6LINAYMI?
(A) South America

(B) Europe

(C) Africa

(D) Asia

Ans-C
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. (C) Africais the correct answer. Africa was the least affected continent
by the First and Second World Wars. This is because it was not directly
involved in either war.

The other options are:

« (A) South America was affected by the Second World War, but to a
lesser extent than Europe or Asia.

. (B) Europe was the most affected continent by both the First and Second
World Wars.

. (D) Asia was also affected by both the First and Second World Wars, but
to a lesser extent than Europe.

() IR 6228 09 Q! galfl B §e1d QgYS 6 ATl A90IQ a¢
deISG 6LIRRmI | K198 9L 6Q141T JR6Q JIARG KRGS Q2ml |

AR SRFYeR 6Leml:

(R) @861 2A16AR] TG FYYS FIRU RUTS 6LIRYMI, @G L6 @€Y 92|
SR AR AIGIER JLISE 6L1RYMI |

(6) Qe daFl B §612 f49S IR L6 AQ0IQ 2SR JRIEE 6LIRMI |

. (@) Q2 R AR JIFl B 1R FGYR QA IRUFE 6LINYMI, G LA
SRR G AILIER dRISE 6[IRAMI |

128. Ancient Odisha's sailors were doing trade with which part of
the world?

dig1e BE6IQ FISRAUER FAQ 68Q 9IS 92 SI8aY aQelem?
(A) South-West Asia

(B) Europe

(C) South-East Asia

(D) China and Japan

Ans-C
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« C) South-East Asiais the correct answer. Ancient Odisha's sailors
were known to have traded with countries in Southeast Asia, such as
Indonesia, Malaysia, and Thailand.

The other options are:
«(A) South-West Asia was also a major trading partner of ancient
Odisha.

. (B) Europe was not a major trading partner of ancient Odisha.

«(D) China and Japan were not major trading partners of ancient
Odisha.

) @R61-gS 9921 9LIQ 0% AR | gIv1e BL4Ia FIRRAI6e Rsdlcadall,
clendel 6 2Ianid af @R8-99 Q2R 6Q47IeE 92 Q&RY FQRER |

AR YRFYeR 6Leml:

(@) @/61-a818 992 I JIf1R BGEIR 99 o6l QUEQRULLEQIS! 2RI |

(6l) f6ld gIF1e BEEIR g6l QIERYAREAISN GAmI |

(@) 912 B RIAIQ gIF1e BLEIR ddl QIEIKYAL6IoN aJ6m |

129. How many district are in odisha?
QAURIER 6R6C ARl 2AK?

(A) 30

(B) 31

(C) 28

(D) 29

Ans- A

« (A) 30is the correct answer. Odisha has a total of 30
districts.

. (%) o 90K Qa9 | 656 ASIL NoF R ARK |
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130. Modem mankind is known in What name?
6116261 FlIRSRIT 69Q RIFIER wéllgéll?

(A) Neanderthal

(B) Australopithecus

(C) Homo sapien

(D) Homo erectus

Ans-C

« (C) Homo sapien is the correct answer. Modern mankind is known as
Homo sapien. They are the most recent species of humans to evolve.

The other options are:

- (A) Neanderthal are an extinct species of humans that lived in Europe
and Asia from about 200,000 to 30,000 years ago.

. (B) Australopithecus are an extinct species of humans that lived in
Africa from about 4 million to 2 million years ago.

. (D) Homo erectus are an extinct species of humans that lived in Africa,
Asia, and Europe from about 2 million to. 11,000 years ago.

(9) 6ZI6EI 690N 62Q8 A0 QA | ARYAR FAIFRIGY 62l6¢ 62d2IQ
QLI | Gade 62RIg 2Rl AgAAIRER 4901 AIgee dRIC 2@
6CI6S |

2R SRF9YeR 6Leml:

(?) FALAAIN 97 Y LRI AgYY LIgl dig 900,000Q €No,000 &Y
6% L6 IG° Y26 991 KQRRI |

(¢) 2R 6MT6ARY I8 S dRITa FgAY ALl IR ¥ FLER 9 FYe 9F
6% AITPRN6R D AR |

. (@) 6216¢1 REAFY 628 9@ TpY dLIT A8 QL Y 9 FPeR
ee,000 Q¥ 6% IR, YT 99° LAV 9ID [ |
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131. What does 'NaCl' mean in chemistry?
QAIAE TRIFERN "IIAIR'Q 22 §'61?

(A) Common Salt

(B) Vitamin

(C} Sugar

(D) Acid

Ans- A

« (A) Common Salt is the correct answer. NaCl is the chemical formula for
common salt, which is also known as sodium chloride.

The other options are:

. (B) Vitamin is a nutrient that the body needs in small amounts to function
properly.
« (C) Sugar is a type of carbohydrate that is found in many foods.

. (D) Acid is a substance that has a pH of less than 7.

(@) ARG REI 6228 407 QR | ITIHIR 6228 ARIAS REIX AL
9@, AIglq 6QIGA 6qAURNG 1) QLI |

IR SRFYSR 6Leml:

(§) @EIAS 6298 9% 60198 0q JIgl I91ag 07 A6 fId *5S! AR 2AF
dRLNSER 2SS |

(9)) BF IR 9RIQ RI6SILIRN6LT IL! A6RS SR TR |

. (@) 99Q 6208 I8 99l QITIa AYF 99 K¢l 2 |
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132. Mithali Raj, an Indian woman player who retired from in 2022
was associated with which sports?

2022 6Q ALY 692 K66 QNG ALK 6%IRIR ACIM AR 689
60l ALC WE'e Uem?

(A) Cricket

(B) Gymnastics
(C) Kabadi

(D) Tennis
Ans- A

« (A) Cricket is the correct answer. Mithali Raj is a former Indian cricketer
who played as a captain and opening batter for the India women's
national cricket team.

The other options are:

. (B) Gymnastics is a sport that involves performing physical exercises
that require balance, flexibility, coordination, and strength.

. (C) Kabadi is a contact sport that originated.in India. It is played between
two teams of seven players each.

. (D) Tennis is a racket sport that is played between two players (singles)
or between two teams of two players (doubles).
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(@) G699 6208 90Q Qa9 | AGIN AR 764 SO NS F6a5a T9 &
RUASIL FIZRI FIFIL F6RT © ARQ AYRILS I9° BT QUIFLAYIR QUG

6SImelem |
AR SRFYeR 6Leml:

(§) RYVRELAR 99 6617 6926 FIAR U 988 LS D
AGAR, RER1NG!, AR I8° 9@ AR F6Q |

(9) RIFITELRR 9@ 6QIFI6KIG F1GI AT VUAGER QAYG 6LIRYM | © KEl
6mSIN 68IRING 69@ F106 9RG OfF FrI6R Il 6SIRIAIN |

. (¥) 6906208 97 QAUCRT 691R LI 9@ 6olRIR (AR @Y @R @4l
6SRINE QR O (PR FRIER SR |

133. In which place the FIH Hockey World-Cup 2023 was Played?
IP2AINIQ 27 S99 2023 689 FIF6R 6w mI?

(A) Mumbai

(B) Rourkela

(C) Qatar

(D) Belgium

Ans-B

. (B) Rourkela is the correct answer. The FIH Hockey World Cup 2023
was played in Rourkela, Odisha, India.

. It was held in Bhubaneswar and Rourkela, India from January 13 to 29,
2023.

. It was the 15th edition of the tournament.

. Germany won the title, defeating Belgium in the final.
« The Netherlands won the bronze medal.

. India finished 9th.
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(8) AN 6228 A0F QA ARG & IR 909N BLEIQ
AUAAEKNIERX ESIRIAIRYMI |

9096 RIGQT eNQ 9¢ BIAE AUS NG RECLFN B AUANECTRIEN YL
2980 62102 |

92l Rl 98 94€l60149 0826 2°ARd |
FINGINEA 68NRANG U9 a8 A1 SIRTR GGeR!|

60CMYIE R1°AY deR @EIMI|

QUG 27 YINERA QALY |

134. Which was the first state of India formed on Linguistic basis?
QY QA6Q QUNSR F2UEl AURY 68AT AMI?

(A) Andhra Pradesh

(B) Odisha

(C) Tamilnadu

(D) West Bengal

Ans- A

« (A) Andhra Pradesh is the correct answer. Andhra Pradesh was the
first state of India formed on linguistic basis in 1953.

. (]) 21996946 6228 40] QR TS EgaM F1ILI6R AUV VRER
S10¢ QUAER 2 QURY Ml |
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135. Which of the following Indian cities is located in south India?
FIMGIS QY 699 QUNG1IA 92 2FE AUNGER ASTS ?

(A) Itanagar

(B) Dharamshala

(C) Coimbatore

(D) Mohali

Ans-C

. (C) Coimbatore is the correct answer. Coimbatore is a city in the Indian
state of Tamil Nadu. It islocated in the southern part of India.

The other options are:

. (A) Iltanagar is located in the northeastern part of India.
. (B) Dharamshala is located in the northern part of India.

« (D) Mohali is located in the northern part of India.

(9) 6RINAIFR 6228 A0R QAAL ERINYFR QIRCA CIFARFG AR I
ALR 6T | 98I VAR @V LUF6R 2ASGS |

AR SR99eR 6Lml:
() ARBIFCN VAR RAA-YS QUER ASFS |
(§) USRI UG QRN RUFER AL |

(@) 66ILIM AUACR QAR RUFER ALLS |

136. Who is presently the President of India?
Qale MG QAULAG F9?
(A) Ganeshi Lal
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(B) Droupadi Murmu
(C) Narendra Modi
(D) Ramnath Kovind
Ans-B

. (B) Droupadi Murmu is the correct answer. Droupadi Murmu is the 15th
and current President of India. She was swornin on July 25, 2022.

The other options are:

. (A) Ganeshi Lal is not the President of India.
« (C) Narendra Modi is the Prime Minister of India, not the President.

. (D) Ramnath Kovind was the 14th President of India. He was succeeded
by Droupadi Murmu in"2022.

() 6§19e1 ¢ 908 Qa1 651951 ¢ 6288 QNG e2Gel G2l FRCIAR
QURAT | 9099 GRIN 9869 6€ €192l 28 SRR

AR SRF9YLR 6Leml:
(S) S1661611 MM VNG AULIG GLE |
(9) F69G 69T UG QUG AURAE QL3 |

. QLRI 6RITH QAR LG4 AURAG 26M | 909962 Gl JIFER 651
qdg Q10 SRR |

137. E=mc? formula is associated with which scientist?
E=m 9@ 699 6FRITET 9T 88?2

(A} C. V. Raman

(B) Einstein

(C} Newton

(D) Galileo
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Ans-B

. (B) Albert Einsteinis the correct answer. The formula E=mc"2 is
Einstein's mass—energy equivalence formula. It states that the energy E
of a body is equal to its mass m multiplied by the speed of light in a
vacuum c, squared.

The other options are:

« (A) C. V. Ramanis an Indian physicist who won the Nobel Prize in
Physics in 1930. He is known for his work on the scattering of light by
molecules.

. (C) Isaac Newtonis an English physicist and mathematician who is
considered to be one of the most influential scientists of all time. He is
known for his laws of motion and his law of universal gravitation.

. (D) Galileo Galilei is an Italian astronomer, physicist and engineer who
played a major role in the scientific revolution. He is known for his
observations of the planets and his experiments on motion.

(&) AINSE AINFWAR 62023 908 989 | 98 E=mc"2 6208 ARGV q
99-43 ARG 98 | 926 LIDINR 69 F19Q €3 E 92I9 998 m 926
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138. Palestine country is located in which continent?
dIERLIAS 694 68 FARICREER 2SS ?

(A) South America

(B) Europe

(C) Asia

(D) Africa

Ans-C

e Asiais the correct answer. Palestine is located in the Middle East,
which is part of Asia.

e Palestine is a region in the Middle East, located on the eastern shore
of the Mediterranean Sea.

e The majority of the population is Muslim, with a significant Christian
minority.

e The official languages are Arabic and Hebrew.

e The capital city is Jerusalem, which is also claimed by lIsrael as its
capital
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139. In which direction of India, Himalaya Mountain Range is
located?

QUAGK 68Q T6I6Q FFIRY ASCAIR ASTS ?
(A) South

(B) North

(C) East

(D) West

Ans-B

The Himalaya Mountain Range is located in the north of India.

e The Himalayas are the highest mountain range in the world.
Mount Everest, the tallest mountain on Earth, is located in the
Himalayas.

e The Himalayas stretch for over 2,400 kilometers (1,500 miles)
along the southern edge of the Tibetan Plateau.

e The Himalayas are a major source of water for millions of people in
Asia. The rivers that originate in the Himalayas, such as the Indus,
Ganges, and Brahmaputra, provide water for drinking, irrigation,
and hydroelectric power.

e The Himalayas are still growing today, at a rate of about 1
centimetre (0.4 inches) per year.

The Himalayas are a young mountain range, geologically speaking. They
formed about 50 million years ago, when the Indian subcontinent collided
with the Asian continent.
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140. Mahanadi flows in which district of Odisha?
aeiaae Gfa‘ﬂl‘a 6RQ @RICA JITC 6EQ8?
) Dhenkanal

(A

(B) Khorda
(C) Kandhamal
(

D) Boudh
Ans-D
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Boudh is the correct answer. Mahanadi flows through the Boudh district of
Odisha.

. The Mahanadi River is a major river in India, flowing through the states
of Chhattisgarh and Odisha.

. lItis the 13th longest river in India, with a length of 900 kilometers (560
miles).

. The Mahanadi River basin covers an area of 141,600 square
kilometers (54,700 square miles).

. The Mahanadi River originates in the Sihawa hills of Chhattisgarh.

. It flows eastward through Chhattisgarh and Odisha, eventually
emptying into the Bay of Bengal.

« The Hirakud Dam, the largest earthen dam in India, is built on the
Mahanadi River.

. The Mahanadi River is home to a variety of plants and animals,
including the Ganges dolphin, the gharial crocodile, and the Indian
python.
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141. India's ancient city Pataliputra is presently known as what?
QUACA FIS1F AEQ dIgRYES QRIS 26l FIFI6R ANGES ?

(A) Pune

(B) Palampur

(C) Patna

(D) Panipat

Ans-C

. (C) Patna is the correct answer. Pataliputra is the ancient city of Patna,
which is the capital of Bihar, India.

The other options are:

. (A) Pune is not correct. Pune is a city in Maharashtra, India.

. (B) Palampur is not correct. Palampur is @ town in Himachal Pradesh,
India.

. (D)'Panipat is not correct. Panipat is a city in Haryana, India.
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142. Indian origin Rishi Sunak is Prime Minister of which country?
QUAGIY °65llLe 2V 21e 699 62619 QRUISAGT ?

(A) Indonesia

(B) Spain

(C) Canada

(D) United Kingdom
Ans-D

« (D) United Kingdom is the correct answer. Rishi Sunak is the Prime
Minister of the United Kingdom. He is of Indian origin.

The other options are:

(A) Indonesia is not correct. Indonesia is a country in Southeast Asia.
« (B) Spain is not correct. Spain is a country in Southern Europe.
(

C) Canada is not correct. Canada is a country in North America.
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143. Khandagiri and Udayagiri caves of Bhubaneswar are
associated with which religion?
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(A) Hinduism
(B) Islam

{C) Jainism
(D) Buddhism
Ans-C

« (C) Jainism is the correct answer. Khandagiri and Udayagiri caves of
Bhubaneswar are associated with Jainism. These caves are located in
Bhubaneswar, Odisha, India. They are home to a number of Jain
sculptures and inscriptions.

The other options are:

« (A) Hinduism is not correct. Hinduism is the major religion in India, but
the Khandagiri and Udayagiri caves are not associated with Hinduism.

«(B) Islamis not correct. Islam is a minority religion in India, but the
Khandagiri and Udayagiri caves are not associated with Islam.

« (D) Buddhism is not correct. Buddhism is a'minority religion in India, but
the Khandagiri and Udayagiri caves are not associated with Buddhism.
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144. Which country had hosted the recently concluded FIFA cup
football — 2022 ?

FRECATP! €U PG SN - 2022 69Q 694 AICAIFE FAYRI ?
(A) Qatar

(B) Argentina
(C) France
(D

) Morocco

Ans- A

Qatar is the correct answer. The FIFA World Cup 2022 was hosted by Qatar.

e |t was the first World Cup ever to be held in the Arab world and the
second World Cup held entirely in Asia after the 2002 tournament in
South Korea and Japan.

e Argentina won the tournament, defeating France in the final. This was
Argentina's third World Cup title, and their first since 1986.

e Kylian Mbappé of France was the tournament's top scorer with 8 goals.

e Qatar's Al Bayt Stadium was the largest stadium of the tournament, with
a capacity of 80,000.

The tournament was played in a condensed schedule, with the group stage
being played over 12 days and the knockout stage being played over 15
days. This was done to avoid the hot weather in Qatar during the summer
months.
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145. What is 'RRR' that got famous recently ?
2922’ /6l ALl gAS 6QaNT2IREIR IR ?
A) An Indian Food

(
(B) An Indian Dance
(C) An Indian film

(

D) An Indian Novel
Ans-C
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An Indian filmis the correct answer. RRR is an Indian Telugu-
language action film directed by S. S. Rajamouli. It stars N. T. Rama
Rao Jr., Ram Charan, Ajay Devgn, Alia Bhatt, Olivia Morris, Alison
Doody, Samuthirakani, Ray Stevenson, and Shriya Saran. The film
was released on 25 March 2022.
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COMPUTER

146. RAM stands for

QUL Q 22 688

(A) Random Assigned Memory
(B) Read only Memory

(C) Random Access Memory
(D) Read Access Memory

Ans-C

Random Access Memory (RAM) is a type of computer memory that can be
accessed randomly. This means that any byte of memory can be accessed
without having to read through all the bytes before it. RAM is used to store
data that is being actively used by the computer, such as the code that is
currently being executed and the data that.is being displayed on the screen.

Option A: Random Assigned Memory is incorrect because RAM is not
assigned randomly. It is assigned to specific addresses in memory.

Option. B: Read only Memory is incorrect because RAM is read-write
memory. This means that data can be both read from and written to RAM.

Option D: Read Access Memory is incorrect because RAM is not read-only
memory. It is read-write memory.
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147. A set of rules that governs data communicationis
€Ig 64IGlcKIog TAGE KRS FAAN IQ AL 6€QA8
(A) HTML

(B) Protocol

(C) Software

(D) Tools

Ans-B
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A protocol is a set of rules that govern how data is communicated between
two devices. Protocols are essential for ensuring that data is transmitted
accurately and reliably. Some common protocols include HTTP, FTP, and
TCP/IP.

Option A: HTML is incorrect because HTML is a markup language that is
used to create web pages. It is not a protocol.

Option C: Software is incorrect because software is a collection of
instructions that tells a computer what to do. It'is not a protocol.

Option D: Tools is incorrect because tools are not protocols. They are
programs that are used to perform specific tasks, such as editing images or
writing code.
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148. Google Chrome is an example of
Qom 691¢] LI 9@ QLILRE]

(A) WWW

(B) HTTP

(C) Web Server

(D) Web Browser

Ans-D

Google Chrome is a web browser. A web browser is a software
application that allows users to view web pages. Google Chrome is a
popular web browser that is available for free. Other popular web browsers
include Mozilla Firefox, Microsoft Edge, and Safari.

Option A: WWW is incorrect because WWW stands for World Wide Web. It
is not a web browser.

Option B: HTTP is incorrect because HTTP stands for Hypertext Transfer
Protocol. It is a protocol that is used to transfer web pages between web
servers and web browsers. It is not a web browser.

Option C: Web Server is incorrect because a web server is a computer
program that hosts web pages. It is not a
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149. Which of the following is a software?
FINGS AUQ 69AG IS ALEBAIR 262
(A) Projector

(B) Hard Disk

(C) MS-Office

(D) Printer

Ans-C
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A software is a collection of instructions that tells a computer what to do.
Software can be used to perform a variety of tasks, such as word
processing, spreadsheet analysis, and web browsing. Some popular
software applications include Microsoft Office, Adobe Photoshop, and
Google Chrome.

Option A: Projector is incorrect because a projector is a hardware device that
projects images onto a screen. It is not a software.

Option B: Hard Disk is incorrect because a hard disk is a hardware device
that stores data. It is not a software.

Option D: Printer is incorrect because a printer is a hardware device that
prints documents. It is not a software.
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150. A is an organized collection of data.
6208 249 99 9°610¢ °9T |

(A) Field

(B) e Mail

(C) Database
(D) Record
Ans-C

A database is an organized collection of data. Databases are used to store
large amounts of data in a way that makes it easy to access and manage.
Some common types of databases include relational databases, NoSQL
databases, and object-oriented databases.

Option A: Field is incorrect because a field is a single piece of data in a
database: It is not an organized collection of data.

Option B: e Mail is incorrect because an e-mail is a message that is sent
over the internet. It is not an organized collection of data.

Option D: Record is incorrect because a record is a single row in a
database. It is not an organized collection of data.
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151. The following are all computing devices except
FIMEIC __ SUS1C AQY 9919 QFIS° GRuRg 26T |

(A) Digital Scanners
(B) Laptops

(C) Mobile Phone
(D) Notebook Computer
Ans- A
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Digital scanners are not computing devices. They are input devices that
are used to scan images and text into a computer. Other computing devices
include laptops, mobile phones, and notebook computers.

Option A: Digital Scanners are input devices that are used to scan images
and text into a computer. They are not computing devices.

CRTIM LA JE7 AT TG 962 69960 6298 RRYY faag IL!
4@ QENIAER 6T 99° 6979 AR ARG QUSES 89 | AR AT SRR
CRIER MUFY, 6CFIAM 6TFIF I9° 601F T/ AT ASES |

Aag A: GRYIM AR 6208 RRYY CRIRG QL 99 QEUTAER PETI I_°
6999 T FASIG TYSLE 89 1 624168 [T FRIRG QL8|

152. A secure website

9 486 69egInG

(A) ask to login using

(B) asks to login with biometrics

(C) indicates a lock in front of the URL and begins with https:
(D) asks to login with OTP

Ans-C
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(A) Ask to login using: Secure websites do not ask users to login
using a specific method. They use the https protocol to encrypt the
data that is transmitted between the user's computer and the website,
making it more difficult for hackers to steal the data.

(B) Asks to login with biometrics: Biometrics is a technology that
uses physical characteristics, such as fingerprints or facial scans, to
identify people. Secure websites may use biometrics as an additional
layer of security, but they do not require users to login using
biometrics.

(C) Indicates a lock in front of the URL and begins with
https: The https protocol stands for Hypertext Transfer Protocol
Secure. It is a secure version of the HTTP protocol that uses
encryption to protect the data that is transmitted between the user's
computer and the website. The lock in front of the URL indicates that
the website is using a secure connection.

(D) Asks to login with OTP: OTP stands for One-Time Password. It
is a temporary password that is sent to the user's mobile phone or
email address. Secure websites may use OTP as an additional layer
of security, but they do not require users to login using OTP.

Therefore, the answer is (C). A secure website indicates a lock in
front of the URL and begins with https:.
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153. LCD Stands for __
IREE Q 22 |

(A) Light Crystal Display

(B) Lithium Crystal Display
(C) Liquid Crystal Display

(D) Laser Crystal Display
Ans-C

Join Us-

LCD stands for Liquid Crystal Display. It is a type of display that uses
liquid crystals to create images. LCD displays are commonly used in
laptops, smartphones, and other electronic devices.

Option A: Light Crystal Display is incorrect because the "C" in LCD stands
for "Crystal."

Option B: Lithium Crystal Display is incorrect because there is no such
thing as a Lithium Crystal Display.

Option D: Laser Crystal Display is incorrect because there is no such thing
as a Laser Crystal Display.
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154. Which of the following is considered as an ICT device?
FINYS RIQ 68RF IS AINTT TRUNY AULEH T6TSF| FAULII?
(A) FM Radio

(B) Multi Meter

(C) Smart TV

(D) Tablet

Ans-C &D
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An ICT device is a device that is used to create, store, transmit, or
exchange information. Some common ICT devices include computers,
smartphones, tablets, and printers.

Option A: FM Radio is incorrect because an FM radio is not used to create,
store, transmit, or exchange information. It is used to listen to radio
broadcasts.

Option B: Multi Meter is incorrect because a multi meter is not used to
create, store, transmit, or exchange information. It is used to measure
electrical quantities.

Option C: Smart TV is a correct answer because a smart TV is used to
create, store, transmit, and exchange information. It can be used to watch
movies, TV shows, and videos, and it can also be used to access the
internet and stream content.

Option D: Tablet is also a correct answer because a tablet is used to create,
store, transmit, and exchange information. It.can be used to browse the
web, watch videos, and edit documents.
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155. A keyboard is what kind of a device?
9Q G69I¢ 6208 609 dRING FRAING?
(A) Output

(B) Word Processing

(C) Black

(D) Input

Ans-D
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A keyboard is an input device. It is used to enter text and other data into a
computer.

Option A: Output is incorrect because a keyboard is not used to output data.
It is used to input data.

Option B: Word Processing is incorrect because a keyboard is not a word
processing program. It is a hardware device that is-used to input data into a
word processing program.

Option C: Black is incorrect because a keyboard is not black. It can be
black, white, or another color.
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156. Identify the operating system out of the following.
FIMeEIe FRIQ AUEAT° JYe TL6 Kgl

(A) Microsoft Windows

(B) Mozila Firefox

(C) Google Chrome

(D) Adobe Photoshop

Ans- A

An operating system is a software program that controls the basic
functions of a computer. It manages the computer's hardware and
software, and provides a platform for running other applications. Some
popular operating systems include Microsoft Windows, macOS, and Linux.

Option A: Microsoft Windows is a correct answer.

Option.-B: Mozila Firefox is incorrect because Mozilla Firefox is a web
browser. It is not an operating system.

Option C: Google Chrome is incorrect because Google Chrome is a web
browser. It is not an operating system.

Option D: Adobe Photoshop is incorrect because Adobe Photoshop is an
image editing software program. It is not an operating system.
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157. Which communication protocol is used by Internet?

QEACHTY T 699 6QISNCAIS! 6dI6QIaMm USRI @RULIN? (A)
HTML

(B) TCP/IP
(C) www
(D) W3C
Ans-B
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The communication protocol that is used by the internet is TCP/IP. TCP/IP
stands for Transmission Control Protocol/Internet Protocol. It is a set of
rules that govern how data is communicated over the internet.

Option A: HTML is incorrect because HTML is a markup language that is
used to create web pages. It is not a communication protocol.

Option B: HTTP is incorrect because HTTP is a protocol that is used to
transfer web pages between web servers and ‘web browsers. It is not a
communication protocol that is used by the internet.

Option C: WWW is incorrect because WWW stands for World Wide Web. It
is not a communication protocol.

Option D: W3C is incorrect because W3C stands for World Wide Web
Consortium. It is not a communication protocol.
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158. Which one of the following is the strongest password?
FYNGL F1Q 6993 A90IQ §B4IR1 AIYEIE 2672

(A) hello12345678
(B) password

(C) 123456789
(D) Aprfd@202 1?

Ans-D
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« (A) hellol2345678 is not a strong password because it is too short and
does not include a mix of uppercase and lowercase letters, numbers,
and symboils.

. (B) password is not a strong password because it is too short and
does not include a mix of uppercase and lowercase letters, numbers,
and symbols.

. (C) 123456789 is not a strong password because it is too short and
does not include a mix of uppercase and lowercase letters, numbers,
and symboils.

« (D) Aprfd@202 1?is the strongest password because it is 12
characters long and includes a mix of uppercase and lowercase letters,
numbers, and symbols.

(A) 626RIM 2345678 4a dR5IA1 CIFEIT Q6% FIQE 92l 96 6816 Ie°
9269 QUNEREL IS° 6AINNERE A, L°HYI I8° 590 Figd 28 FIe|

(B) ILNGIG 9@ S24IR1 AIYEIF G6L FIRE Y2 920 62T I9° Y2J6Q AUNERE
99° 6RIANGRL 28D, L8l 99° 599 fgd 286s g6%|

(c) 123456789 9 §@4IR1 AIFEIS G62 Q198 YLl 996 6819 F6T I9° 12J6Q
QIR I9° 6RINAERL 2V, L°HYI 96° F9 Agél 2SED Q6L |

. (d) € Aprfd@202? 92| 950IQ SIBSIR1 AIYEIE FIQE 92! 12 AV REY
JQ° \2J6Q QUAERY IS° 6RIAAECRY 2[R, L°6lUl 99° Fegean Hgd

ASLD |

159. To cut off parts of an image is known as
PETIR @R 2°6lg RITQIg LIQII

(A) cropping
(B) wrapping
(C) cut off
(D) trimming

Ans- A
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. (A) cropping is the correct answer. It is the process of cutting off
parts of an image to focus on a specific area.

. (B) wrapping is not a term used to describe the cutting off of parts of
an image.

« (C) cut off is not a term used to describe the cutting off of parts of an
image.

. (D) trimming is not a term used to describe the cutting off of parts of
an image.

() PAM 620 0% ARQ | 9G FER 688 QU6 T 694! IR Igl 99
2 7 2°8 QIS 9T 26T |

(§) QUT° 98 98 g6L Qg 98 K8 2°5geaa fIel adal faSl AR
Yege gV |
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LG 99 |

. (D) 88° 99 9% 962 QIT 98 859 A°EYeaa AIel 94l 289l IR
QUL 99 |

160. Which is not a popular computer manufacturing brand?
6999 IR 6MSTA FENTQ QYILS T1E §6L7?

A) ACER

B) NOKIA

)H

(
(
(C
(D) HCL

Ans- B
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(B) NOKIA is not a popular computer manufacturing brand. Nokia is a
popular mobile phone manufacturing brand, but not a popular computer
manufacturing brand. Other popular computer manufacturing brands
include Acer, HP, and Dell.

(A) ACER is a popular computer manufacturing brand.

(C) HP is a popular computer manufacturing brand.

(D) HCL is a popular computer manufacturing brand.

(@) 6912 98 6AIFTY AR AYILR F1E g6% | 621R2 I7 6RIKTA 6AISIAR
5 6PIQ QAYICARIN S, TS IR 6AIRTY AR QUGS T4 §6% | AR 6RAIFTL
ATRA QYILFRIN FIYYLS F116R 999, 6T I9° 66N ASL'S |

(@) I9RUIN 6228 99 6AFTA AITR QLR Q14 |

(Q) 998 9@ 6MIRTY AN QISR 914 |

(@) 99 A9IM YLl 99 6RINTL SFITR QAR S14 |

161. Which of the following groups consists of only output
devices?

FINGS RIQ 69 6CIFER QSR ANTYS TANY QER? (A)
Mouse, Printer, Monitor

(B) Plotter, Printer, Monitor
(C) Scanner, Printer, Monitor
(D) Keyboard, Printer, Monitor
Ans-B
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. (B) Plotter, Printer, Monitor is the correct answer. Output devices
are devices that display information that has been processed by a
computer. Some common output devices include monitors, printers,
and speakers.

« (A) Mouse, Printer, Monitor is incorrect because a mouse is an input
device, not an output device.

« (C) Scanner, Printer, Monitor is incorrect because a scanner is an
input device, not an output device.

. (D) Keyboard, Printer, Monitor is incorrect because a keyboard is an
input device, not an output device.

(6) 999, 94, A9 62R8 407 QAR | UIRTYY 2N 6228 FLIng
A1gl 98 aPER IR Y FAUVRAYS| YOI e R6Q1 69668 ARINE
2IR9YS PRINg FI6R F799, 94 99° I8 2SS |

(A) F1Qg, §49, AT QR FI0¢ FIed 96 ARYY TRIag, Ie AKTYe
FRRg 962

(c) AL, 9, AT QA TG A Y& QRIS FARY, 2RTYY TR
Q68|

(D) @168I¢, 49, AFFR @R ¢ 98 1681 98 ARYS TRIag, I
210999 CRIRg §6Ll

162. Which of the following options is used to combine more than
one objects in a single object?

66T £969 IRQ 2YS €9F IRI0 SRS AR FIRYS FAUQ 68Q
S9F SUSLIR SAUINI?

(A) Collision
(B) Merge
(C) Group
(D) Combine
Ans-B
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. (B) Merge is the correct answer. It is a command that combines two or
more objects into a single object.

« (A) Collision is not a command that combines objects.

« (C) Group is a command that groups multiple objects together, but it
does not combine them into a single object.

. (D) Combine is not a command that combines objects.
(6l) 5161 9L 0K Q@R 26T | YLl 6LRR I A7lld ALl 908 /9l 2Re 999
6615 9969 (518 K69 |

(A) L1EE 6291 9Q 26ed g6< Al 9YEF IRI0 K69 |

(c) F1Q€ 622 e aclld AILl 9IRS 999 IKI0 /2N, Fg 9Ll 699I9g 69159
G969 F156 969 AIE |

(D) *FURES 97 26946 968 AL 999Eq IR0 K6 |

163. A collection of web pages linked together in a particular order
is known as

96 GG9 gr6a 99e AT 62IRYSI 648 JUGEea I8 I°ge
FA6R AQTE

(A) Search Engine
(B) Web Browser
(C) Website

(D) Webserver
Ans-C
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. (C) Website is the correct answer. A website is a collection of web
pages that are linked together and share a common domain name.

« (A) Search Engineis a software program that helps users find
information on the internet.

. (B) Web Browser is a software program that allows users to view
web pages.

. (D) Webserver is a computer that hosts web pages.
(C) 6894ING 6208 A0 LA | 99 68R4IRT 6208 649 JYIFLan I
A°9R DLl 9RI0 A 6FINSE 99° 9@ ARIAE 621661 FIFl 2RI FER

() 96 ABE 6908 Ia ALY 62IglIE AIL QULLIVRNG RANCHTER
Ao 6P AILIAY KEQ |

(6l) 649 FINRRN 6LAR 99 AL63AIQ 69IFIF] ALl QUSLIRRINNGT 669
QUYL 6241 QAT &9 |

(D) 648G I8 ISR AT 639 JVYER 6L F6R |

164. The shortcut key to copy a file is
(A) ctrl +V

(B) ctrl + C

(C)alt+C

(D) shift + C

Ans-B

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190
Download “Tech Of World” App

« (B) ctrl + C is the correct answer. The shortcut key to copy a file is ctrl +
C.

« (A) ctrl + V is the shortcut key to paste a file.
. (C) alt + C is not a shortcut key.
« (D) shift + C is not a shortcut key.
Q) ATAIIM + J 6228 402 2@ | 9§ Tl /d K2R IR Q@QS‘ NS

62Q& CTrl + C|

(A) GTAUAINIM + V 6238 I8 oM 69 591 AR 45eQ SR |
(C) AR+ § 98 990 918 g6% |

(D) 9 + 8 921 9 9999 618 6L

165. A web page is located by using a
9Q 6499 991 Y9LIQ 90 LT UL
(A) Uniformly Reachable Links

(B) Uniform Resource Locator

(C) Universal Record Linking

(D) Universal Record Locator

Ans-B
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 (B) Uniform Resource Locator (URL) is the correct answer. A URL is
a unique address that identifies a web page on the internet.

« (A) Uniformly Reachable Links is not a term used to refer to web
pages.

« (C) Universal Record Linking is not a term used to refer to web pages.
(D) Universal Record Locator is not a term used to refer to web pages.

() gaerel Qegld sMIERTR (PRAINIA) 626 909 Q@S | URL 6208
9@ 2064 0R4l QIT Q65T 69 9@ 639 YITES A6l

(A) QAIG QUGEH RETEN AR 637 JYUYFF 6 /RS AIR FULLS &
q% Q6% |

(c) QRadIM 699¢ AT 99 d9 962 AT 648 9NFE] 956 a8l AR
NeLE g9 |

(D) SEdIM 699¢ 6MIETTN I8 I8 96% QITl 639 JNGReq 956 aS
AR UILE 99 |

166. Each computer connected to the internet must have
QEA6QY A€ D°6dIRE J66UR QENTQ 6Q QAL IS

(A) a Unique IP address
(B) a modem connection
(C) a Pentium Processor
(D) a Web Browser

Ans- A
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(A) a Unique IP addressis the correct answer. Every computer
connected to the internet must have a unique IP address.

(B) a modem connection is not required for all computers connected to
the internet.

(C) a Pentium Processor is not required for all computers connected to
the internet.

(D) a Web Browser is not required for all computers connected to the
internet.

(A) 99 22qY IP 0Q6ll 08 QAR 26T | REARERT I8 A°YB J6GUR
AT YR 908 AIRD 0REl QLS ISR |

(B) @€oee] 99 Q°6dine 999 QISR da 9% 6€162¢ L°6RQ
2GR QIL |

(9) REREAY 4L A°YB AL QIR QIR 6986 6916999 Q ZYIURE]
QG |

RE969G 42 A°6IRe IAY SYTR AR IR 648 FIRRQ 2SS
|

(D
Ql

)e—

167. is called the brain of a computer.
_ 9 efyoea A99 gLIdig | A) CPU

(B) Monitor

(C) Motherboard

(D) Keyboard

Ans- A
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« (A) CPU is the correct answer. The CPU (Central Processing Unit) is
the brain of the computer. It is responsible for carrying out all of the
instructions that are given to the computer.

« (B) Monitor is the device that displays the output of the computer.

« (C) Motherboard is the main circuit board of the computer. It connects
all of the other components of the computer together.

. (D) Keyboard is the input device that is used to enter text into the
computer.

(@) 9% 62QR 90] Qe | Adg (694Im 691693° A7) 6L AT
(139 | SHUSRG QALIRIYR! DAY FEENIRT ARIGE RS AR 9L QI |

(B) FIRG'Q 62QR 698 Galng FILl AFFAR 2IQATYY IS K69 |

(9) FISR6RIE 628 AYITAR FElY IFT 691€ | I8l AR AY Y
QQIQIRg IR0 Q°6<I9 Rl |

. (D) S1691¢ 6998 I8 AFYF FARg Ll KPIFAER 655 T6SE
ARG YLS 99 |

168 Most commonly available computer keyboard in ___ format.
__erdlioen Ag0IQ ARIINEILS RIMG FPISTR @F6QIC |

(A) ABCDEF
(B) QWERTY
(C) QOLTY
(D) ALTER

Ans-B
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. (B) QWERTY is the correct answer. The QWERTY keyboard is the
most commonly available computer keyboard format. It was designed
in the 1870s and is still in use today.

« (A) ABCDEEF is not a keyboard format.

« (C) QOLTY is not a keyboard format.

« (D) ALTER is not a keyboard format.

(§) QWERTY 62Q& 909 @9l QWERTY @6QI¢ 6228 990IQ ARIQE
QISR QARG FUTR @6RIE PEIF | ¥Gl eroo QIRER LRIRG
AAUAIRIYRI IG° 2@ F1&l QULLE 6LRR |

(A) ABCDEF 9@ 91691¢ ¢relle g6%|
(C) QOLTY 9% 916916 erelig 6L

(D) 2ANGQ AINIR 1681¢ el g62 |

169. Which of these services will not be provided by a Typical
Internet Service provider (ISP) ?

ARINE QN 64SI dLIFRNA (ISP) FIQl 9T 64SIYES U
6999 d9IF SUIS FIE?

(A) An e-mail address
(B) Technical Hel

(C) Modem

{D) Internet Connection

Ans- A
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« (A) An e-mail address is a service that is provided by most ISPs.
. (B) Technical Help is a service that is provided by most ISPs.

« (C) Modem is a device that is used to connect a computer to the
internet. Most ISPs do not provide modems to their customers.

« (D) Internet Connection is a service that is provided by most ISPs.

(A) 98 Q-661M 0R6ll 6228 IR 6991 IR AYLI°E ARILISF I LU
@ULN |

(§) 6808e ALINGI 6298 e 6991 AT YR dRINTF FIa IQIQ
AN |

(C) 661168¢] 6298 Y6 SRR QAL Y8 HUSag REa6Re § 2°64I9
QR9Ig QUREE 99 | AYKIPE ARIYT 627w gleas F1697 IRIF 998
Qg |

(D) QA6 G'Q' 4°64dI6l & 649 dIX] 2eI°¢l ISP K19l dLla @ULIN |

170. Which of the following items is not present on desk ?
FIMeIC NG FRIQ 6995 68269 QATE G‘Ié?

(A) Icon

(C) Folder

(B) Taskbar

{D) Disk Drive

Ans-D
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. (A)lcon is a small image that represents a file, folder, or program.
. (C) Folder is a container in which files can be stored.

. (B) Taskbaris a horizontal bar at the bottom of the screen that
contains icons for running programs, as well as the Start button.

. (D) Disk Drive is not typically present on the desktop. Disk drives are
hardware devices that are used to store data on physical disks. They
are not typically visible on the desktop because they are not part of the
GUI (graphical user interface).

(A) AINRY 6228 99 68IF R AL 9@ Flm, 6PN [ 64IgIF] 9
deqyq K6l

(C) 6P INQ 6LQRIR F64TR 68‘(5'816‘61 FlIRMYEs 6VQ FAUARAIAR |

(B) TAskbar 6208 I0Q SRLIYER 2T 9@ LACKIEIN FIQ 6R2U6Q
6919IF] SRING! AR ARG I9° VIS 997 Q@I

(D) @9 QIR R ARG 685U 60 RUTE G621 6% LINNCLRR
2lgeeaa Salng diel 6RIeR @96q @IPl 6]IQ FASQIg SY9gE g9 |
6971166 RGBS 6926E 69 QEUFle S ]I FI0¢ 69768 GglR
(FIPRIR YR ALAEPY)R 2°8 QL8 |

171. What is the function of UPS?
2999 Q Q1Y 2612

(A) Increases speed of computer
(C) Provides Storage

(B) Provides Internal Connection

(D) Provides backup power

Ans-D

(D) Provides backup power: UPS provides backup power to a computer or
other electronic device in the event of a power outage.
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(@) QUIead dI9IQ dLIe @6 4899 dIgq 989 686M QSR @9 QY
REMER TR fANLG QUIKAY AIGIQ e K2 |

Join Us-

172. Domain names always have two or more parts, separated by a

6@1661Q FIFIGERER ARl @RT R AR 2A°H AN, AILI 99
g1l Aol 6L

(A) period (called dot)
(B) hyphen

(C) comma

(D) semicolon

Ans- A

« (A) period (called dot)is the answer. Domain names are the
addresses of websites on the internet. They are made up of two or
more parts, separated by periods. The first part is the top-level domain
(TLD), which identifies the type of organization or country that owns
the domain name. The second part is the second-level domain (SLD),
which identifies the specific organization or website. For example, the
domain name "www.google.com" has two parts: the TLD "com" and
the SLD "google".
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(@) 29 (Fg FLIMIY) YLIR LA 6T | 6L16¢17 QlFl LR RYACRTER
639AINGYEa 0R4ll | 699GR Q@R Y RS °9q 6a@ 906, LIS FIA
ARGl 62102 | eIl QI 62QR FU-6MERM 6316717 (TR, ILl 681671
QIR ARG L°P08 @ 699 IR TLE A6 FRIL QUG LR FIA

JOQ 6216919 (99 I &), AITl F&EY 2°009 Sl 66eRG § 589 AN
QQIEd 9d, 69I6aR RIFl "www.google.com” Q Q@G ¢ 2AR: TIRE
"al" 9Q° YIRE "goim” |

173. ICT Stands for
AIRGT @ 22

(A) Information and Communication Technology
(C) Information and Computer Technology

(B) Information and Call Technology

(D) Information and Connection Technology

Ans- A

« (A) Information and Communication Technology is the answer.
ICT stands for Information and Communication Technology. It is a
term used to describe the use of technology to communicate and
share information. ICT includes a wide range of technologies, such
as computers, the internet, and mobile phones.

. (9) 9991 B 616K YD FLYI ILIQ 2@ 2AIRDT Q 2e] 6228

9oal 99° 6QI9I6QIT gYRTGUI | 999! 62IGNELG I9° 2°HFIR QS
dR 656FI6AIRA UeLIRg 94l Al iR 98l 99 9% 26T |
2IRAT6R ALY, REREAY IG° 67ISIDM 6FIR AR FRQ 65676
AL |
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174. Which of the following program starts as soon as computer
gets switched on?

174. QENOQ gAQ 2Q 629 Fl6E FINYS FRIQ 68 6gIglF 2N

g9?

(A) Windows Explorer

(B) Operating System

(C) MS- Office

(D) Text Editor

Ans-B

(A) Windows Explorer is a file manager that allows users to view
and manage files and folders on their computer.

(B) Operating System is the software that controls the basic
functions of a _computer. It is responsible for loading programs,
managing memory, and controlling input and output devices. The
operating system is the first program that starts when a computer is
turned on.

(C) MS- Office is a suite of office productivity software that includes
programs such as Word, Excel, and PowerPoint.

(D) Text Editor is a program that allows users to create and edit text
files.
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(A) Windows Explorer 6228 Y@ FIm d90IRe Ll QU6QIaIg
6AIRE QEUTACR FIRM I9° 6CFIRQ 69l 99° AATIRG !ARUG
QG Gl

(§) ATERAT° /e 628 Ia ALEEARQ Ll AFAR 651G RIdug
GRad @2 | 9Ll 6gIgIFl 6MIG 9QQI, 61671 ARG FQR! IQ°

RRge 98° 2ReYs Calag Fogd ael iR Gl Ad6as° Teel
62Q& g2Iel 6giglifl QIT] AR 95 27 6261 96 2R g |

(c) MS- 2P 620@R 2T © QYRG! ALEIAR A 98 AL 696
@le, 96gm I8° AIGIAYq @F 691916 2SES |

(D) 69'g¢ IGFQ 6228 I8 6dIglfl AL QUEUBIT 659% TFIom I-
JQ° AYQR KQIq AQAT @9 |

175. A is location or container in which files can be
stored.

175. A 62QR 299I7 @9 @649 GQG\{QGQ PINMNGYER 6RIQ
QARG |

(A) Library

(B) Utility

(C) Folder

(D) Recycle Bin -
Ans-C
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« (A) Library is a collection of folders and files that are organized by type.
Libraries are a useful way to organize files and make them easier to
find.

. (B) Utility is a program that performs a specific task, such as defragging
a hard drive or checking for viruses.

« (C) Folder is a location or container in which files can be stored. Folders
can be nested inside other folders, creating a hierarchical structure for
storing files. Folders are a useful way to organize files and make them
easier to find.

« (D) Recycle Binis a folder that stores files that have been deleted.
Files in the Recycle Bin can be restored if they are deleted accidentally.

(@) dIOIFQ 621N 99° PR JLaa I8 2°0e ALl 9eIa FI91 2°6106
622N RIRETA FIRNYEG A°P06 *QQ! I9° 64AIRg 6510Ql dLe@
R Iq QUCQISN QL |

_— e o~ —

(§) PEMTELAR 9@ 6dIge AT 99 GG} QIdY QR R69, 6DURGE 2IF
QIRVG GEPR° QR AT 9l AR 1Y KRS |

(C) 6PINy 62A8 98 ASYS @F F6EEA 6D FIRAYES 6
FAUARAR/L | 6FIRAG ALY 6P WBER ANNARTNER, AL PIRR 6VIQ
QS AR 98 684196 QIFl 9¥ @RANI FIemgEq °006 KAQl 9Q°

62€ag 6§IRS1 926 29! IR 6TINAGES Y8 QA6 QT A6 |

. (D) QQING, 97 69 9q 6PN ALl F6MId 6212l FIRMNYEq 6
QAN 9T QMSEES SemId 6LIRUIN 6069 ARG F7 6 <l
FIRNYLR EQRIR 6L |
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176. Which of the following is a model document that can be used
to create another document?

MGG FUQ 69AT 99 66N TYISE LAY SRR TAR K1
QYSLIQ KQULIRUIERN?

(A) Sample

(B) Model

(C) Style

(D) Template

Ans-D

(A) Sample is a document that is used as an example. Samples can
be used to see how a document should be formatted or to get ideas
for creating new documents.

(B) Model is a document that is used as a template. Models can be
used to create new documents by copying and. pasting the formatting
and content from the model.

(C) Style is a set of formatting rules that can be applied to text. Styles
canbe used to make text look consistent and professional.

(D) Templateis a model document that can be used to create
another document. Templates typically contain the formatting and
layout of a document, but they can also contain content, such as text
and images. Templates are a useful way to save time and effort when
creating new documents.
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(A) 2¢Ql 688 99 QYRR ALl 98 QQIEAE QR YIEe g9 | 99
QIRRRAR Pellg 6261 QTG ¢ GI2l 6Q4Ql dIR §eY gor SYRe 98-
RS AR ARG AR AR QR QULLIR FAUAIRAIRS |

(6l) l6em ILI 98 Q@ISR QILl 99 65¢6NY U6 QULLE €9 | F168RQ
eI 9G° SYAY KT ¥S° 69% KR 9OF QIRE PR KRG F16ER
QLI FAUAIRUIAR |

(c) 68m1 62@8 odige Fara Y& dge QL 695560 I6LIS
FALIRAITS | 6959 § LIEPS 99° RGeS 648IAG! IR 6TRIUSLIR
AR

(D) 69CI6MY 62K IR FI68R FQY6FIE AITIRAFY QYRR FAR 29Q! AN
LR 6QINUIER | 65681,9 FLa6a ARIAGGE I8 @IFER relige 9a°
6MAIRY QLeN, §g 62269 6697 ¥6° 88 dF FLSY I} LdleR |
2oa QIR LR QR A7 A7le I9° YT A8 @R IR
69eMS e QU6KIST QAN 26T |

177. Physical structure of a computer is called
RN 6RNER 9109 LI

(A) Malware

(B) Application

(C) Hardware

(D) Software

Ans-C
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. (C) Hardware is the physical structure of a computer. It includes the
central processing unit (CPU), the memory, the storage devices, the
input devices, and the output devices.

. (A) Malware is software that is designed to harm a computer system.

. (B) Application is a program that is designed to perform a specific
task, such as word processing, spreadsheet, or web browsing.

. (D) Software is a general term for programs that run on a computer.

(9) FIF64R 6TARFNITAR 6610F G0 | W6 694 691699° YaT
(AL, 6616617, 6WI6RR @RIRY, RAYY LAY Y9° ARGTYT CAURY
ASES |

(@) FlIMEZAIRN 6228 Iq AL6EAQ AL 9@ KNI dVAG VG JLFIRKI
IR GRING FAULIRE |

(B) 2IG6KIT 6208 I 6giglfl QIEl 98 Faq QIdy gfes @8l AR
PRIRG AR, 69T €I¢ 691699°, 69TR, @l 647 FIRR° |

(D) QU6 SIS 64IFIFIgEe a[[=] AF68LIQ Iq AlRIINE] sle 26T |

178. When you quickly press and release the left mouse button
twice you are

6965696% 2Ié g <l Flag 998 § TAAN RIR gD 998
6968696R 216l g

(A) Double-Clicking
(B) Secondary-Clicking
(C) Primary-Clicking
(D) Pointing

Ans- A
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. (A) Double-Clicking is the act of pressing and releasing the left mouse
button twice in rapid succession. It is typically used to open a file or
folder.

. (B) Secondary-Clicking is the act of pressing and releasing the right
mouse button. It is typically used to open a context menu, which is a list
of commands that are relevant to the item that is currently under the
mouse cursor.

. (C) Primary-Clicking is the act of pressing and releasing the left mouse
button once. It is typically used to select an item.

« (D) Pointing is the act of moving the mouse cursor over an item on the
screen.

(@) 29 §8 2L 6208 QI FlIg 997 § 8¢ 966 9@ AR YRINSI Y_°
8 SAQIQ FIY | 98! ARINAESS I8 FIRM @Y 6PINQ 6N IR FYSLE

g9 |
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179. What is the permanent in-built memory of computer called?

QAR I QR-TM 6A6LING /'€l QRICAING?
(A) CPU
(B) CD-ROM
(C) RAM

(D) ROM
Ans-D
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« (D) ROM (Read-Only Memory) is the permanent in-built memory of
computer. It is used to store the computer's firmware, which is a set of
instructions that tell the computer how to start up and run.

« (A) CPU (Central Processing Unit) is the brain of the computer. It is
responsible for executing instructions and carrying out calculations.

. (B) CD-ROM (Compact Disc Read-Only Memory) is a type of optical
disc that can store data permanently.

« (C) RAM (Random Access Memory) is the temporary memory of the
computer. It is used to store data that is currently being used by the
computer.

(@) e9m §@ @AQI 62a& Qlfl ARG Q9R 9 96 JL6A YR AN QIRK
9G° €8 KRR fIdY | 9gI ARINEISS I8 PIRR A9 6FIRQ 6N AR

QUeES g4 |

(6l) 69628IN1-§R @AF] 62QR GILIE FlIRg 97 YIRS IL° B KA
Q1Y | 9gI ARINEISS IR YA 65194 6SIRG! AR SUSLE 99, LITl QIR
Qg R AMNFER ST AINTE 980 IAFPR FAldYPen 98 CInal 263 |

() HIAR-GR FALI 6208 QIFl I 9T} § 26A YRINR 9Q° B KAS
| 921 ARIAEISS 99 AIRT SO KARUQ USLES 29 |

(D) 8969 2SI & RS Q969 AL 990G gIFIea aaal fIdy 269

180. All of the following are storage devices except
FImele 4719 691697 fRlng 9416

(A) Printers

(C) Hard Disk Drive
(B) DVD Drive

(D) USB Drive
Ans- A
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. (A) Printers are output devices that print text and images to paper.
They do not store data.

« (C) Hard Disk Drives (HDD) are non-volatile storage devices that use
magnetic storage to store data. They are the most common type of
storage device in computers.

. (B) DVD drives are devices that can read and write data to DVDs.
DVDs are optical discs that can store a large amount of data.

. (D) USB drives (also known as flash drives) are portable storage
devices that use flash memory to store data. They are small and
lightweight, making them easy to carry around.
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ENGLISH

1. Find out the wrongly spelt word-

(A) national

(B) Anthem

(C) Business
(D) Trycolour
Ans-D

- National is spelled correctly. It is an adjective that means "relating
to or belonging to a nation.”

. Anthem is spelled correctly. Itiis a noun that refers to a song that is
sung to express patriotism or national identity.

. Business is spelled correctly. It is a noun that refers to an activity
involving the production, buying, and selling of goods and services.

« Trycolour is not spelled correctly. The correct spelling is "tricolour".
The word "tricolour"“is a noun that refers to the national flag of
India.

2. Find out the wrongly spelt word-
(A) Usual
(B) Actual
(C) Arival
(D) Approval
Ans-C
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« Usual is spelled correctly. It is an adjective that means "happening or
done regularly or normally."

« Actual is spelled correctly. It is an adjective that refers to something
that is real or true.

« Arival is not spelled correctly. The correct spelling.is "arrival". The word
"arrival" is a noun that refers to the act of coming to a place.

« Approvalis spelled correctly. It is a noun that refers to the act of
approving something.

3. Find out the wrongly spelt word-
(A) Patrol

(B) Incom

(C) Village

(D) Enough

Ans-B

. Patrol is spelled correctly. It is a verb that means to keep watch over an
area or person.

. Incom is not spelled correctly. The correct spelling is "income". The word
"income" is a noun that refers to the money that someone receives in a
year.

. Village is spelled correctly. It is a noun that refers to a small, rural
community.

« Enough is spelled correctly. It is an adverb that means "to a sufficient
degree or quantity.”
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4. Find out the wrongly spelt word-
(A) Independenc
(B) Foreigner
(C) Partition

(D) Trader

Ans- A

. Independencis not spelled correctly. The “correct spelling is
"independence”. The word "independence"” is a noun that refers to the
state of being free from the control of another person or power.

. Foreigner is spelled correctly. Itis a noun that refers to a person who is
not a citizen of the country in which they are living.

. Partition is spelled correctly. It'is a noun that refers to the division of a
country or territory into two or more parts.

. Trader is spelled correctly. It is a noun that refers to a person who buys
and sells goods or services.

5. Find out the correctly spelt word.
(A) Application

(B) Applecation

(C) Aplication

(D) Applicasion

Ans- A
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. Application is spelled correctly. It is a noun that refers to a formal request
for something.

« Applecation is not spelled correctly. The correct spelling is "application".
The word "applecation” is a made-up word that does not exist.

. Aplication is not spelled correctly. The correct spelling is "application". The
word "aplication" is a made-up word that does not exist.

. Applicasion is not spelled correctly. The correct spelling is "application".
The word "applicasion" is a made-up word that does not exist.

6. Find out the correctly spelt word.
(A) Addmision

(B) Admission

(C) Admision

(D) Admmision

Ans-B

. Admission is spelled correctly. It is a noun that refers to the act of being
allowed to enter somewhere.

. /Addmision is not spelled correctly. The correct spelling is "admission". The
word "addmision" is a made-up word that does not exist.

. Admision is not spelled correctly. The correct spelling is "admission". The
word "admision" is a made-up word that does not exist.

« Admmision is not spelled correctly. The correct spelling is "admission".
The word "admmision” is a made-up word that does not exist.

7. Find out the correctly spelt word.
(A) Wellcome

(B) Welcom

(C) Welcome
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(D) Wellcom
Ans-C

. Welcome is spelled correctly. It is an adjective that means "received with
pleasure or satisfaction."

« Welcom is not spelled correctly. The correct spelling is "welcome". The
word "welcom" is a made-up word that does not exist.

« Wellcome is not spelled correctly. The correct spelling is "welcome". The
word "wellcome" is a made-up word that does not exist.

8. Find out the correctly spelt word.
(A) Urggent

(B) Urrggent

(C) Urrgent

(D) Urgent

Ans-D

« Urgentis spelled correctly. It is an adjective that means "requiring
immediate action or attention."”

. Urrggentis not spelled correctly. The correct spelling is "urgent". The
word "urrggent" is a made-up word that does not exist.

. Urrgentis not spelled correctly. The correct spelling is "urgent". The
word "urrgent" is a made-up word that does not exist.

9.1 ___ have won the match; but sadly | lost.
(A) will

(B) dare to

(C) need to

(D) could
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Ans-D

. Could is the correct answer. The word "could" is used to express a past
possibility. In this sentence, the speaker is saying that they could have won
the match, but they did not.

« Will is not the correct answer. The word "will" is used to express a future
action or event.

. Dare to is not the correct answer. The word "dare to" is used to express a
willingness to do something that is risky or dangerous.

. Need to is not the correct answer. The word "need to" is used to express a
necessity or obligation.

10. There ____ be a famous sweet shop here 20 years back.
(A)was to

(B) would

(C)usedto

(D) should

Ans-C

«Used to is the correct answer. The word "used to" is used to express a
past habit or action that is no longer happening. In this sentence, the
speaker is saying that there used to be a famous sweet shop here 20
years ago, but it is not there anymore.

«Was to is not the correct answer. The word "was to" is used to express a
future obligation or plan that did not happen.

«Would is not the correct answer. The word "would" is used to express a
past habitual action or a polite request.

«Should is not the correct answer. The word "should" is used to express a
moral obligation or a strong recommendation.
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11. We always respect our elders.

(A) could

(B) should

(C) can

(D) may

Ans-B

Should is the correct answer. The word "should" is used to express a
moral obligation or a strong recommendation. In this sentence, the
speaker is saying that we should always respect our elders.

Could is not the correct answer. The word "could" is used to express a
past possibility.

Can is not the correct answer. The word "can" is used to express ability.

May is not the correct answer. The word "may" is used to express
possibility or permission.

12. All students obey the school regulations to maintain
discipline.

(A) must

(B) are able to

(C) could

(D) will

Ans- A
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«Must is the correct answer. The word "must" is used to express a strong
obligation or necessity. In this sentence, the speaker is saying that all
students must obey the school regulations to maintain discipline.

«Are able to is not the correct answer. The word "are able to" is used to
express ability.

«Could is not the correct answer. The word "could" is used to express a
past possibility.

«Will is not the correct answer. The word "will" is used to express a future
action or event.

"Milk is a _(Q-13) food, full of vitamins and proteins. Children
should drink it _(Q-14) otherwise they might (Q-15) from under-
nourishment. Elders must also (Q-16) it; but those who cannot (Q-
17) it should eat fruits and vegetables as an (Q-18) We should (Q-
19) milk of good quality from milk booths (Q-20) by government. "

13.

(A) complete
(B) completely
(C) Completing
(D) completion

Ans- A
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. Complete is the correct answer. The word "complete" means "having all
the necessary parts or elements." In this sentence, the speaker is saying
that milk is a complete food, meaning that it contains all the nutrients that
the body needs.

. Completely is not the correct answer. The word "completely" means "in a
complete or total manner." In this sentence, the speaker is not saying that
milk is completely full of vitamins and proteins, but rather that it is a
complete food.

. Completing is not the correct answer. The word "completing" is the
present participle of the verb "complete." In this sentence, the speaker is
not saying that milk is in the process of being completed, but rather that it
is a complete food.

. Completion is not the correct answer. The word "completion" is the noun
form of the verb "complete." In this sentence, the speaker is not talking
about the completion of milk, but rather its completeness.

14.

(A) regularity
(B) regulately
(C) regulatingly
(D) regularly
Ans-D
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Regularly is the correct answer. The word "regularly” means "happening
or done at fixed intervals." In this sentence, the speaker is saying that
children should drink milk regularly, meaning that they should drink it on
a consistent basis.

Regularity is not the correct answer. The word "regularity" is the noun
form of the adjective "regular." In this sentence, the speaker is not
talking about the regularity of milk, but rather the frequency with which
children should drink it.

Regulately is not the correct answer. The word "regulately” is not a real
word.

Regulatingly is not the correct answer., The word "regulatingly” is not a
real word.

15.

(A) sufferingly
(B) suffer

(C) suffering
(D) suffered
Ans-B

. Suffer is the correct answer. The word "suffer" means "to experience
pain or distress." In this sentence, the speaker is saying that children who
do not drink milk might suffer from under-nourishment.

. Sufferingly is not the correct answer. The word "sufferingly" is an adverb
that means "in a manner that shows suffering." In this sentence, the
speaker is not talking about how children who do not drink milk suffer, but
rather the fact that they might suffer.

. Suffered is not the correct answer. The word "suffered" is the past tense
of the verb "suffer." In this sentence, the speaker is not talking about
children who have already suffered from under-nourishment, but rather
children who might suffer in the future.
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16.

(A) taken
(B) taking
(C) take
(D) took
Ans-C

. Take is the correct answer. The word "take" means "to get hold of
something and move it to another place." In this sentence, the speaker is
saying that elders must also take milk, meaning that they must drink it.

. Taken is not the correct answer. The word "taken" is the past participle of
the verb "take." In this sentence, the speaker is not talking about elders
who have already taken milk, but rather elders who must take milk in the
future.

« Taking is not the correct answer. The word "taking" is the present participle

of the verb "take." In this sentence, the speaker is not talking about elders
who are in the process of taking milk, but rather elders who must take milk.
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17.

(A) affordance
(B) affording
(C) afford

(D) afforded
Ans-C
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. Afford is the correct answer. The word "afford" means "to have enough
money to buy something." In this sentence, the speaker is saying that those
who cannot afford milk should eat fruits and vegetables as an alternative.

. Affordance is not the correct answer. The word "affordance" is a noun that
refers to the possibility of using an object for a particular purpose. In this
sentence, the speaker is not talking about the affordance of milk, but rather
the ability of people to afford milk.

. Affording is not the correct answer. The word "affording" is the present
participle of the verb "afford." In this sentence, the speaker is not talking
about people who are in the process of affording milk, but rather people
who cannot afford milk.

. Afforded is not the correct answer. The word "afforded" is the past tense of
the verb "afford." In this sentence, the speaker is not talking about people
who have already afforded milk, but rather people who cannot afford milk.

18.

(A) alternation
(B) alteration
(C) alter

(D) alternative

Ans-D

Alternative is the correct answer. The word "alternative" means "a choice
between two or more things." In this sentence, the speaker is saying that
people who cannot

19.

(A) purchase
(B) purchasingly
(C) purchased
(D) purchasing
Ans- A
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Purchase is the correct answer. The word "purchase" means "to buy
something." In this sentence, the speaker is saying that we should
purchase milk of good quality from milk booths opened by the
government.

Purchasing is not the correct answer. The word "purchasing" is the
present participle of the verb "purchase." In this sentence, the speaker is
not talking about the act of purchasing milk, but rather the result of that
act.

Purchased is not the correct answer. The word "purchased" is the past
participle of the verb "purchase." In this 'sentence, the speaker is not
talking about milk that has already been purchased, but rather milk that
should be purchased.

20.

(A) openingly

(B) opened

(C) open

(D) opening

Ans-B

Opened is the correct answer. The word "opened" means "to make
(something) open." In this sentence, the speaker is saying that milk
booths opened by the government sell milk of good quality.

Opening is not the correct answer. The word "opening" is the present
participle of the verb "open." In this sentence, the speaker is not talking
about the act of opening milk booths, but rather the result of that act.

Open is not the correct answer. The word "open" is an adjective that
means "not closed." In this sentence, the speaker is not talking about
milk booths that are not closed, but rather milk booths that have been
opened.
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21. Arrange the words (parts of a sentence) properly to form a
correct sentence .

few places / take rest /on the / there were / to | way
(A) Places there to take rest were few on the way.
(B) There were few places the way to take rest on.
(C) There were few places to take rest on the way.
(D

) The way to take rest on few places were there.

Ans-C

The correct sentence is "There were few places to take rest on the way."
This is because the preposition "on" is used to indicate a location, and in this
case, the location is the "way." The phrase "to take rest" is a gerund phrase,
which means that it is a verb that is used as a noun. In this case, the gerund
phrase is the object of the preposition "on."

22. Arrange the words (parts of a sentence) properly to form a
correct sentence .

wheel /is/ man's/ the/ invention/ greatest/ perhaps
(A) The wheel is perhaps man's greatest invention.
(B) The wheel is man's greatest perhaps invention.
(C) Perhaps the greatest invention is man's wheel.
(D) Perhaps wheel is man's greatest the invention.

Ans- A

The correct sentence is "The wheel is perhaps man's greatest invention."
This is because the word "perhaps" is an adverb that modifies the adjective
"greatest." The adjective "greatest" modifies the noun "invention."
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23. Arrange the words (parts of a sentence) properly to form a
correct sentence .

very difficult / it was / to travel / earlier/ long distances
(A) It was very difficult earlier travel to long distances.
(B) It was difficult to very travel long distances earlier.
(C) Earlier long distances was very difficult to travel it.
(D

) Earlier it was very difficult to travel long distances.

Ans-D

The correct sentence is "Earlier it was very difficult to travel long
distances."” This is because the word "earlier" modifies the verb "travel." The
verb "travel" is followed by the preposition "to" and the object "long distances."

24. Arrange the words (parts of a sentence) properly to form a
correct sentence .

backs / their belongings / travellers carried/ on their
(A) Belongings carried their travellers on their backs.
(B) Travellers carried their belongings on their backs.
(C) Their travellers carried on belongings on their backs.
(D) Their backs carried their belongings on travellers.

Ans-B

The correct sentence is "Travellers carried their belongings on their
backs." This is because the word "travellers" is the subject of the sentence.
The verb "carried" is followed by the object "their belongings." The object
"their belongings" is modified by the prepositional phrase "on their backs."
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Fill in the blanks of the paragraph written below with most
suitable/appropriate passive voice from the options given against
each question as indicated in the blanks.

"How to make a cup of tea”

In order to make a cup of tea, boiled water (Q-25) Then a spoonful
of sugar (Q-26) to it. Some milk (Q-27). A cup of tea is ready."

25.

(A) pour into a cup

(B) is poured into a cup

(C) has been poured into a cup
(D) had been pour into a cup

Ans- B

The correct answer is "is poured into a cup.” This is because the sentence
is in the passive voice, and the verb "pour".is in the present tense. The
subject of the sentence is "boiled water," and the object of the sentence is "a
cup." The verb "pour" is followed by the preposition "into," which indicates the
location of the object.

26.

(A) will be added
(B) add

(C) is added

(D) added
Ans-C
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The correct answer is "is added." This is because the sentence is in the
passive voice, and the verb "add" is in the present tense. The subject of the
sentence is "a spoonful of sugar,” and the object of the sentence is "it."
The verb "add" is followed by the object "it," which refers to the "boiled
water."

27.

(A) is put in it and stirred

(B) is putted in it and stir

(C) had been put in it and stirred
(D) putin it and stir

Ans- A

The correct answer is "is put in it and stirred." This is because the
sentence is in the passive voice, and the verb "put" is in the present tense.
The subject of the sentence is "Some milk," and the object of the sentence
is "it," which refers to the "cup of tea." The verb "put" is followed by the
preposition "in," which indicates the location of the object. The verb "stir" is
also in the present tense, and it is being used to describe the action that is
being done to the object.

28. Choose the best/appropriate mean mg of the underlined words
Choose the best/appropriate mean mg of the underlined words

(A) list of food items to be served in the

(B) issues to be discussed in the meeting

(C) persons to be present in the meeting

(D) agencies to be present in the meeting

Ans-B
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The correct answer is "issues to be discussed in the meeting." This is
because the word "agenda" refers to a list of topics or issues that will be
discussed at a meeting.

29. Choose the best/appropriate mean mg of the underlined words

Koraput district of Odisha, which is a very hilly district, boasts of
many perennial streams that help in local agriculture.

(A) streams supplying water for irrigation

(B) streams flowing only during rainy season
(C) streams flowing from hills and forest

(D) streams flowing round the year

Ans-D

The correct answer is "streams flowing round the year." This is because
the word "perennial" means "lasting or existing for a long or indefinite
period." In the context of the sentence, it means that the streams in Koraput
district flow all year round, which helps in local agriculture.

30. Choose the best/appropriate mean mg of the underlined words
Amongst seasonal fruits, | like mango the best for its sweetness.
(A) not available in all seasons

(B) available in the local area

(C) available in all seasons

(D) tastes sweet

Ans- A
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The correct answer is "not available in all seasons."” This is because the word
"seasonal" means "relating to or occurring in a particular season." In the context
of the sentence, it means that mangoes are only available in a particular
season, which is why the speaker likes them the best.

31. They ____the train if they do not hurry.
(A) will miss

(B) will have missed

(C) are missing

(D) miss,

Ans- A

The sentence is about a future event, so the verb should be in the future
tense. The most appropriate option is (A) will miss. This option indicates that
the people will miss the train if they do not hurry. The other options are
incorrect because they are in different tenses.

(B) will have missed is in the past perfect tense, which indicates that the
action has already happened before another action in the past. This does not
make sense in the context of the sentence, because the people have not yet
missed the train.

(C) are missing is in the present continuous tense, which indicates that the
action is happening now. This does not make sense in the context of the
sentence, because the people have not yet missed the train.

(D) miss is in the infinitive form, which does not indicate the tense of the
action. This is incorrect because the sentence needs to specify the tense of
the action.
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32. | try to visit my relatives in my home town _____other month.
(A) any

(B) every

(C) each

(D) some

Ans-B

The sentence is about a regular event, so the verb should be in the simple
present tense. The most appropriate option is (B) every. This option
indicates that the speaker visits their relatives in their home town on a
regular basis. The other options are incorrect because they are in different
tenses.

(A) any is in the indefinite article form, which .indicates that the speaker
visits their relatives in their home town sometimes. This does not make
sense in the context of the sentence, because the speaker says that they try
to visit their relatives in their home town, which means that they do it
regularly.

(C) each isin the definite article form, which indicates that the speaker visits
their relatives in their home town on every occasion. This does not make
sense in the context of the sentence, because the speaker does not say that
they visit their relatives in their home town on every occasion.

(D) some is in the indefinite article form, which indicates that the speaker
visits their relatives in their home town sometimes. This does not make
sense in the context of the sentence, because the speaker says that they try
to visit their relatives in their home town, which means that they do it
regularly.
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33. The dentist cleaned my ___ with some liquid.
(A) teeth

(B) teeths

(C) tooth

(D) tooths

Ans- A

The sentence is about the dentist cleaning multiple teeth, so the verb should
be in the plural form. The most appropriate option is (A) teeth. This option is
the plural form of the word "tooth" and refers to the multiple teeth that the
dentist cleaned. The other options are incorrect because they are in the
singular form.

(B) teeths is not a word.

(C) tooth is in the singular form and does not refer to the multiple teeth that
the dentist cleaned.

(D) tooths is not a word.

34. The crowd ___ restless as the day got hotter.
(A) were getting

(B) will get

(C) was getting

(D) is getting

Ans-C
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The sentence is about an event that happened in the past, so the verb should be
in the past tense. The most appropriate option is (C) weas getting. This option
indicates that the crowd was becoming restless at a specific time in the past.
The other options are incorrect because they are in different tenses.

(B) will get is in the future tense, which indicates that the action will happen in
the future. This does not make sense in the context of the sentence, because
the crowd was already getting restless.

(A) were getting is also incorrect
(D) is getting is in the present tense, which indicates that the action is

happening now. This does not make sense in the context of the sentence,
because the crowd was already getting restless.
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35. Your writing is bad but mine is
(A) worst

(B) better

(C) badder

(D) worse

Ans-D
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The sentence is comparing two things, so the verb should be in the
comparative form. The most appropriate option is (D) worse. This option
indicates that the speaker's writing is worse than the other person's writing.
The other options are incorrect because they are in the superlative form.

(A) worst is the superlative form of the -word "bad" and indicates that
something is the worst of its kind. This does not make sense in the context of
the sentence, because the speaker.is only comparing their writing to the other
person's writing.

(B) better is the comparative form of the word "good" and indicates that
something is better than something else. This does not make sense in the
context of
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Read the paragraph given below and answer the questions.

At least 21 people, including six children, were killed when an
overcrowded tourist boat sank in Poorapuzha river in Tanur in
kerala's Malappuram district on Sunday evening. Rescue workers
said the houseboat carrying around 35 tourists, against its
sanctioned capacity of 20, over-turned during a joyride around 7
pm. The operator had permission to run the service only till 6 pm.
According to survivors, the boat swayed and suddenly overturned
trapping the tourists underneath the vessel. It is said there were not
enough life jackets onboard. Fishermen said the river is deep at the
accident spot and rescuing the people who were caught
underneath the boat was a tough task. Tanur municipal chairman P
P Shamsudheen said the private party operating the boat carried
more people than allowed. "That was the reason for the accident,"
he said. Many of those who died were women and children who had
come for a ride amid the ongoing school vacations.
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36. Rescuing the people was difficult because

(A) being a Sunday, government officials were not available
(B) the boat was carrying excess people

(C) the river was deep at the accident place -

(D) the people were mainly tourists

Ans-C

Explanation: The paragraph mentions that the river at the accident spot
was deep. As a result, rescuing thepeople who were caught underneath the
boat became a challenging task: The depth of the river made it harder for
the rescue workers to reach the trapped individuals and perform the rescue
operation.

37. What other rule violation was committed by the boat?
(A) operating on a government holiday

(B) operating the service after 6 pm

(C) carrying tourists in the boat without

(D) carrying children in the boat swimming test

Ans-B

Explanation: According to the paragraph, the operator of the boat had
permission to run the service only until 6 pm. However, the accident
occurred around 7 pm, indicating that the boat was operating beyond the
allowed time. Therefore, the boat violated the rule of operating the service
after 6 pm.
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38. Who should be responsible for not having enough life jackets?
(A) the rescue team

(B) the local fishermen .

(C) the boat operator |

(D) the tourists themselves who were supposed to have their own life
jackets

Ans-C

Explanation: The paragraph mentions, that there were not enough life
jackets onboard the boat. It is-the responsibility of the boat operator to
ensure the safety of the passengers.by providing an adequate number of life
jackets. Therefore, the boat operator should be held responsible for not
having enough life jackets onboard.

39. Approximately how many extra persons were in the boat
beyond its sanctioned capacity?

(A) 20
(B) 35
(C) 21
(D) 15
Ans-D

Explanation: The paragraph states that the boat was carrying around 35
tourists, while its sanctioned capacity was 20. To determine the number of
extra persons, we subtract the sanctioned capacity from the actual number
of tourists: 35 - 20 = 15. Therefore, there were approximately 15 extra
persons in the boat beyond its sanctioned capacity.
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40. The boat overturned because

(A) there were not enough life jackets

(B) the river was deep

(C) there were many children and women

(D) there were more people than the allowed limit

Ans-D

Explanation: According to the paragraph, the boat overturned during a
joyride. It is mentioned that the boat was carrying more tourists (35) than its
sanctioned capacity (20). The excessive:weight and imbalance caused by the
extra people likely contributed to the boat overturning. Therefore, the boat
overturned because there were more people than the allowed limit.
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